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‘What type of noun is the underline word 7
__gtjgmy_ls the best policy.

1) Common noun 2) material noun 58.
3) abstract noun 4) collective noun

Find the i mcorrect pair? -

1) Hatt - Roe 2} Colt - Fllly

3)Drone-Bee . 4) Buck - Ewe
Which is the best book in the market 7
The undcrlmed word is used as .......in the sen-

tence, .

1) Relative Pronoun 2) Indefinite Pronoun
3) Distributive Pronoun

4) Interrogatwe Propoun - - \ | 59

Choose the sentence with correct artlcle _
D He found a oldest umbrella in the house.

2) He found an oldest umbrella in the house. 60.
-3) He found the oldést umbrella in the house.

4) He found oldest umbrealla in the house.
Choose the correct set of tense forms of the
verbs given in the brackets.

While you (talk) to me on the phone, some-

body (knock) at my door. . 61.

1) were talking; knocked

2) talking ; had knocked

3)talked knocking -~

4) had talked ; had knocked _

Choose the con‘oct alternative from t.hose given

1) The novelis read by me a number of times.
2) This novel has been read by me 2 number of
times

-3) The novel .:s hemg read by me 2 number of
times . 63.
4) The novel is to beread by me a number of

times.
Choose the indirect speech from the
following :
1) He is to affirm that what he sald was the

2) He is affiring that what he s‘a'id wasg the
. truth. :

3) He affirms that what he said was the trath.

4) He is affirmed that 'what he éaid was the
truth ¢

Choose the cortect dlrect speech of Mother:

asked him whether he hqd watered the plants

1) “Have you wateréd'the plants?” mother
askedhim .

2) ‘Have you watel'ed the plants ?’ mother
_saidto hlm Ho ‘*

3) His mother sald ‘Has he watered the

. plants?
4) His mother asked ‘Whether you have
watered the plants?”
Find i mcorrect pair?
1) Mango-Mangos  2) Loaf - Loaves
3) Louse- Lice 4) Lily-Lilies

Find the sentence in which ‘All’ has been
used as an adjective. _

1) It was all profit & no loss

2) He was all alone in the class

3) All spoke well . _
' 4) He lost his all in gambling.. -

Choose the. proper question -tag for - Stop
that noise ..........e.i. 7 _

1) Stop that noise, w111 you? -

2) Stop that noise, can’t you ? .

3) Stop that noise, don’t you

~ 4) Stop that noise, didn’t you ?
‘below: 62.
‘T have read this novel a number of times.

Change into simple sentence. The fact that he

is silent proves his guilt ?

1) The silence proves hizg gullt

2) The silence has proved his guilt

3) His gullt has been proved by his silence

4) His being silent proves his guilt. :

He could not win a scholarship due to his care-:

lessness. Change this sentence mto a '

compound sentence. _

1) Due to his carelessnsess, he could not win
a scholarship

2} He was careless, naturally, he could not




. win a scholarship. -
3) Hewas careless, there fore he could not win
a scholarship: .
4) On accounts of his carelessness he could
not win a scholarship.
‘64, Which one of'the following sehtences is cor-
| rectly punctuiited ?- '
i 1) “What 2 smmd boy he is !” muttered
L -Pandors.
2)- Whata s!up:dw?ﬁe is '?—'Muttcred?anéﬁm.
3) What a stupid boy he is, muttered Pandora.
4) What a stupid boy he is muttered Pandora,

afﬁrmatlve mtence A few farmers saved
- their crop.”
1} Only some farmers dtdnot saved Ehelr crop. -
2) Not all farmers saved their crop.
3) A few * farmers did not save their crop.
4) Not only some farmers saved their crop.
66 Choose the Sorfect sentence &om the '
" following: :
‘A few farmers saved their crop
1) They went to hostpital to §¢&-my uncle.
2) They went to a hospital 1o see my uacle.
~ 3) They v‘rﬁfﬁﬂi&_h’dsﬁital*ta see my uncle. -
4) Theywent to an hdspital to see my‘uncle.
67. Which of the following'is 2 piir of words not
 the seméin'tiéming?
1) Acknowitedge : adinit
“2¥Defend ; proteét . S
: 3) Sensible : sensmve 4) éﬂi’éfe“ﬁf: capabie
'68. - Which word is not synonyms of Brawl ?
~ 1)Quarrel 2)Bold . 3) Squabble 4)Uproar

69 Whlclrwoﬁ i# fot- synmyms ‘of Despicable 7 80.

1) Pro"&ae 2y Coneemptlble

_ 3) Hatefal ~ 4)Disdainful -
'70.  Which wordis Antonyms of Immanent?

1) Mortal 2) Transcendent
 3)Reality 4) Simple*
‘91, . Which word is Antonyms of Niggard ?
"7 F)Broad 2) Distinct _

- 81,

3) l’amal ) -4) Spendthrift -

72.

7,

65. Choose the correct negative sentence of the given 74.
75.

76. .
' . 5824,5242,7,4247,3823

.

78,

79.
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-Choose the proper phrase for the word “Uto-
pian”
1) Originalty- from Eumpe

-2} Perfect dnd ideal but cruel -

3) Perfect and ideal but powerless
4} Perfect and Ideal but i lmagmary and -
impossible

Choose the correct meamng of the phrase ; Lé
i

be taken aback © > !

1) Tobestartled . ~2)To withdsaw :
3) To be struck atthe back- :
4) To backup -

Find One wond Substitution for— Centre of at
traction of interest.” B
- 2) Connois_seur

b Charlatap“j"

3) Cajole - 4) Cynosure

Choose the correct one word substitution for
‘the phrase : : :

Mental weariness from wanx of occupatlon-

1) Fatigue "2) Envy - 3) Tireness 4) Ennui
ayRfarrTen aﬂmﬁﬁwﬁa ?

1) 4624 2)4718  3)4766 4)4738
welt e e wefasgvea faol]
HIOTEAT HEAT AeAteT ? :
1,5,15,35,2,2

1)70,126 2)56,84 3) 84,126 4)74,210!
3,8,18,23,33, ........48

1) 38 2) 40 3) 3
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